Binding energy is not extra energy that something has. Binding energy is MISSING energy.


If you have two magnets stuck together, they are stuck because you must work to pull them apart--you must add the missing energy to separate them. The energy you have to add to separate them is called the binding energy. I don't know what "releasing binding energy" could possibly mean.


The magnets that are stuck together because they attract have a less energy, so they have less mass. The missing energy is also a missing mass--the mass defect. Something that has a greater mass defect has more binding [missing] energy--it takes more work to separate them.


On the other hand, when you set a mouse trap, it has a higher potential energy. Springing the trap allows the spring to convert the potential energy into kinetic energy.


When something has more potential energy, it must have more mass. The mouse trap has more mass when it is set than when it is sprung. The spring changes the potential energy into kinetic energy. You may also say that the spring changes the mass into kinetic energy.


It's the force that makes it happen, of course. The force does work to change potential energy into kinetic energy. 


In the fission of a large nucleus like uranium, the strong force holding the nucleus together just barely wins over the electric repulsion trying to tear it apart. An external nudge allows the repulsion to win, and the pieces fly apart. Because of the repulsion, the nucleus was at a high potential energy. The smaller pieces that fly apart have less potential energy--they have less mass. When they are apart, the two pieces are at a lower energy than when they were together--there is MORE binding [missing] energy--it's harder to split the smaller pieces apart than it was the big piece. In nuclear fission there is an increase in binding energy (i.e., the total potential energy is smaller) so there is kinetic energy "released."


The potential energy due to the repulsion of the charged particles is electromagetic.


 This explosion is just like the two dynamics cars that have a spring loaded plunger, like we use to demonstrate conservation of momentum. The plunger is set and the cars are put together. The system has a high potential energy--there is extra mass. You tap the plunger and the cars fly apart. The total energy is the same, of course, but the cars have a little less potential energy (a little less mass), so there is lots of kinetic energy.


I have used the term mass to mean "rest mass," as is common in particle physics. Some might say that things going faster have more mass (they include the kinetic energy in the calculation), and this changes the words a little bit.


